il ® e £ #® RS = e
AR TREMER IR AR IREMHER TR
SH6E | HH5E A | S6E | SAI5E R | S6E | SAI5E R | SM6E | SAI5E R | SF6E | HFI6E WE | HF6E | HF5E IR

B T # %] 9,726 9,230 496 3,843 3,907 -64 39.5 423 -2.8 74 80 -6 73 78 -5 98.6 97.5 1.1
54 o | 4,941 4,552 389 1,712 1,746 -34 34.6 38.4 -3.8 29 40 -11 29 39 -10 100.0 97.5 25

PR A 2,927 2,594 333 1,001 990 11 34.2 38.2 -4.0 11 23 -12 11 23 -12 100.0 100.0

5 bHhX 681 638 43 227 231 -4 333 36.2 -2.9 4 3 1 4 3 1 100.0 100.0

SbHbEKX 353 377 -24 133 152 -19 37.7 40.3 -2.6 2 1 1 2 1 1 100.0 100.0

SbEKX 980 943 37 351 373 -22 35.8 39.6 -3.8 12 13 -1 12 12 100.0 92.3 7.7
B % m 2,403 2,470 -67 911 1,034 -123 37.9 41.9 -4.0 18 11 7 17 11 6 94.4 100.0 -5.6
b= TR ) 399 433 -34 244 231 13 61.2 53.3 7.9 4 3 1 4 3 1 100.0 100.0
E - 201 173 28 88 76 12 43.8 43.9 -0.1 4 3 1 4 2 2 100.0 66.7 33.3
£ ® W 195 168 27 101 66 35 51.8 39.3 12.5 1 4 -3 1 4 -3 100.0 100.0
H R W 110 100 10 72 49 23 65.5 49.0 16.5 2 2 2 2 100.0 - 100.0
F S ) 260 237 23 100 87 13 38.5 36.7 1.8 - -
m R W 64 64 29 38 -9 45.3 59.4 -14.1 1 1 1 1 100.0 100.0
R W 69 50 19 35 28 7 50.7 56.0 -5.3 - -
5 &1 99 104 -5 56 63 -7 56.6 60.6 -4.0 1 3 -2 1 3 -2 100.0 100.0
b= I ) 146 133 13 55 68 -13 37.7 51.1 -13.4 3 1 2 3 1 2 100.0 100.0
~ B W 141 115 26 65 58 7 46.1 50.4 -4.3 1 1 1 1 100.0 100.0
E E W 92 111 -19 63 57 6 68.5 51.4 17.1 1 3 -2 1 3 -2 100.0 100.0
£ fF 0wW 61 74 -13 31 48 -17 50.8 64.9 -14.1 - -
b= R 140 100 40 79 41 38 56.4 41.0 15.4 1 3 -2 1 3 -2 100.0 100.0
R AR AT 51 50 1 19 26 -7 37.3 52.0 -14.7 1 1 1 1 100.0 - 100.0
HMEME S AT 48 51 -3 9 29 -20 18.8 56.9 -38.1 2 -2 2 -2 - 100.0 | -100.0
& O ER Bk |y 52 32 20 26 13 13 50.0 40.6 9.4 1 -1 1 -1 - 100.0 | -100.0
NNy N i) 30 40 -10 22 15 7 73.3 37.5 35.8 1 1 1 1 100.0 100.0
& JE AR # A 2 1 1 1 1 50.0 50.0 - -
& M AR 8 27 A7 15 26 -11 8 10 -2 53.3 38.5 14.8 - -
P FH AR B o0 T 34 29 5 10 13 -3 29.4 44.8 -15.4 1 -1 1 -1 - 100.0 | -100.0
f FH AR 5 % HT 12 6 6 5 4 1 41.7 66.7 -25.0 1 -1 1 -1 - 100.0 -100.0
EHEFEERN 2 3 -1 2 3 -1 100.0 100.0 - -
AKEBBAKFIHET 9 7 2 2 4 -2 22.2 57.1 -34.9 - -
A K BB 3% K ET 33 21 12 17 16 1 51.5 76.2 -24.7 1 1 1 1 100.0 - 100.0
NS BB 2 o SR T 14 18 -4 8 10 -2 57.1 55.6 1.5 1 1 1 1 100.0 100.0
TEH RN 103 62 41 73 74 -1 70.9 119.4 -48.5 4 4 4 4 100.0 - 100.0




1 £ B % &= B
AL REAEL REK AL REAEL REEK
SFI6E | HAMGE | R | HF6FE | HASE | MEEL | HH6F | HFSE | | HMEFE | HISFE | ER | HM6E | HMEFE | EE | HH6E | HMSE | A

B T # 790 883 -93 681 776 -95 86.2 87.9 -1.7 6,786 6,502 284 2,077 2,163 -86 30.6 333 -2.7
[z th bl 375 373 2 312 334 -22 83.2 89.5 -6.3 3,576 3,338 238 931 958 =27 26.0 28.7 -2.1

S b 215 191 24 174 173 1 80.9 90.6 -9.7 2,133 1,964 169 532 562 -30 24.9 28.6 -3.7

YL HK 46 56 -10 37 45 -8 80.4 80.4 504 461 43 135 121 14 26.8 26.2 0.6

b EREKX 28 37 -9 29 29 103.6 78.4 25.2 271 277 -6 82 87 -5 30.3 314 -1.1

YHLEK 86 89 -3 72 87 -15 83.7 97.8 -14.1 668 636 32 182 188 -6 21.2 29.6 -2.4
B # L 187 248 -61 157 208 -51 84.0 83.9 0.1 1,732 1,799 -67 504 645 -141 29.1 35.9 -6.8
= th bl 44 53 -9 43 48 -5 97.7 90.6 7.1 254 269 -15 127 129 -2 50.0 48.0 2.0
= % bl 18 16 15 14 1 83.3 87.5 -4.2 115 112 3 42 44 -2 36.5 39.3 -2.8
kv fiE) bl 15 10 12 12 80.0 120.0 -40.0 109 110 -1 67 35 32 61.5 31.8 29.7
#* = bl 5 10 -5 5 10 -5 100.0 100.0 62 61 1 40 25 15 64.5 41.0 23.5
8 #t bl 19 34 -15 16 26 -10 84.2 76.5 7.7 186 164 22 59 43 16 317 26.2 5.5
= 2 L 5 7 -2 1 6 -5 20.0 85.7 -65.7 42 44 -2 17 22 -5 40.5 50.0 -9.5
# ) bl 9 4 5 9 5 4 100.0 125.0 -25.0 48 29 19 21 15 6 43.8 51.7 -7.9
& A L 9 14 -5 9 15 -6 100.0 107.1 -7.1 64 60 4 30 33 -3 46.9 55.0 -8.1
SR ) 16 11 5 16 11 5 100.0 100.0 113 97 16 30 41 -11 26.5 423 -15.8
Vi e bl 14 11 13 8 92.9 2.7 20.2 106 78 28 40 34 6 37.7 43.6 -5.9
=1 BE bl 10 17 -7 11 15 -4 110.0 88.2 21.8 46 62 -16 27 27 58.7 435 15.2
=S 1E L 5 16 -11 7 13 -6 140.0 81.3 58.7 38 34 4 22 22 57.9 64.7 -6.8
= = bl 9 13 -4 10 11 -1 111.1 84.6 26.5 110 67 43 57 19 38 51.8 28.4 23.4
AR A S AT 7 5 2 7 3 4 100.0 60.0 40.0 31 38 -7 8 19 -11 25.8 50.0 -24.2
WERME S AT 5 9 -4 4 8 -4 80.0 88.9 -8.9 33 25 8 1 11 -10 3.0 44.0 -41.0
% O Ep 2 Ay 9 5 4 7 3 4 77.8 60.0 17.8 33 12 21 13 2 11 39.4 16.7 22.7
/)N BB & B HY 1 5 -4 1 4 -3 100.0 80.0 20.0 18 26 -8 18 6 12 100.0 23.1 76.9
B [E BB # E AT 1 1 1 1 100.0 - 100.0 1 -1 -
& M AR 37 2F A7 1 3 -2 1 3 -2 100.0 100.0 10 17 -7 6 5 1 60.0 29.4 30.6
f5 FB AR B o8 T 4 4 3 3 75.0 75.0 19 15 4 3 7 -4 15.8 46.7 -30.9
F5 H AR % & AT 3 2 1 4 1 3 1333 50.0 83.3 5 2 3 1 1 20.0 50.0 -30.0
EHEBAEEN 1 1 1 1 100.0 100.0 2 -2 1 -1 - 50.0 -50.0
AKEBAKFGHT 1 1 1 1 100.0 100.0 3 3 1 -1 33.3 -33.3
A K BB 3 K HT 6 6 6 6 100.0 100.0 15 13 2 4 9 -5 26.7 69.2 -42.5
PNEER & i o R AT 3 1 2 1 1 66.7 100.0 -33.3 9 12 -3 4 7 -3 44.4 58.3 -13.9
~H - BAE 8 4 7 6 1 87.5 150.0 -62.5 9 12 -3 5 2 3 55.6 16.7 38.9




N e e & % e
AR TREMER IR AR IREMHER TR
SH6E | HH5E A | S6E | SAI5E R | S6E | SAI5E R | SM6E | SAI5E R | SF6E | HFI6E WE | HF6E | HF5E IR

B T #® O 750 496 254 284 268 16 37.9 54.0 -16.1 196 132 64 170 121 49 86.7 91.7 -5.0
54 (ITI—) 325 199 126 109 110 -1 335 55.3 -21.8 92 68 24 80 60 20 87.0 88.2 -1.2

5 bt 172 88 84 67 63 39.0 71.6 -32.6 60 34 26 49 29 20 81.7 85.3 -3.6

5 bHhX 42 34 8 17 15 40.5 44.1 -3.6 7 13 -6 6 9 -3 85.7 69.2 16.5

5 bHEK 18 17 1 4 12 -8 22.2 70.6 -48.4 6 5 1 6 6 100.0 120.0 -20.0

SbEKX 93 60 33 21 20 1 22.6 333 -10.7 19 16 3 19 16 3 100.0 100.0
' Z b 135 121 14 53 50 3 39.3 41.3 -2.0 62 23 39 54 23 31 87.1 100.0 -12.9
b= TR ) 25 31 -6 12 11 1 48.0 35.5 12.5 7 6 1 6 6 85.7 100.0 -14.3
E - 31 12 19 12 5 7 38.7 41.7 -3.0 2 2 2 2 100.0 - 100.0
£ ® W 43 19 24 5 2 3 11.6 10.5 1.1 1 10 -9 9 -9 90.0 -90.0
H R W 25 13 12 18 4 14 72.0 30.8 41.2 1 1 1 1 100.0 - 100.0
F S ) 16 8 1 5 -4 6.3 62.5 -56.2 2 2 2 2 100.0 100.0
m R W 1 4 -3 1 2 -1 100.0 50.0 50.0 3 1 2 2 1 1 66.7 100.0 -33.3
R W 5 11 -6 2 6 -4 40.0 54.5 -14.5 1 1 1 1 100.0 - 100.0
5 &1 9 6 3 7 3 4 77.8 50.0 27.8 - -
b= I ) 3 5 -2 1 6 -5 333 120.0 -86.7 1 1 1 1 100.0 100.0
~ B W 4 7 -3 2 4 -2 50.0 57.1 7.1 3 2 66.7 - 66.7
E E W 10 8 2 6 2 4 60.0 25.0 35.0 9 6 8 5 88.9 83.3 5.6
£ fF 0wW 7 4 3 1 1 14.3 25.0 -10.7 1 1 1 1 100.0 100.0
b= R 9 6 3 3 3 333 50.0 -16.7 3 3 3 3 100.0 - 100.0
R AR AT 4 1 3 1 -1 100.0 | -100.0 1 1 1 1 100.0 - 100.0
HMEME S AT 5 5 2 3 -1 40.0 60.0 -20.0 1 -1 1 -1 - 100.0 | -100.0
& O ER Bk |y 5 2 3 1 1 20.0 20.0 4 -4 4 -4 - 100.0 | -100.0
NNy N i) 5 2 3 1 1 20.0 20.0 - -
& JE AR # A 1 - - -
= MR iE B Ay 2 2 1 -1 50.0 -50.0 - -
P FH AR B o0 T 7 2 1 1 14.3 14.3 - -
f FH AR 5 % HT 3 - 1 -1 1 -1 - 100.0 -100.0
EHEFEERN 1 -1 - - - -
AKEBBAKFIHET 2 2 - 2 -2 2 -2 - 100.0 -100.0
A K BB 3% K ET 3 1 2 1 -1 100.0 | -100.0 2 2 2 2 100.0 - 100.0
NS BB 2 o SR T - - 1 -1 1 1 -
TEH RN 65 27 38 46 47 -1 70.8 1741 | -103.3 5 5 3 5 -2 60.0 100.0 -40.0




% fto D il = B
AL REAEL REEER
HHI6E | HAM5E R | H6E | HAISE R | HF6E | SAISE HR
B F O# % 1,130 1,137 -7 558 501 57 49.4 44.1 5.3
[z th bl 544 534 10 251 245 6 46.1 45.9 0.2
2 b 336 294 42 168 140 28 50.0 47.6 2.4
dHHKX 78 71 7 28 38 -10 35.9 53.5 -17.6
)b EK 28 40 -12 10 17 -7 35.7 42.5 -6.8
L EK 102 129 -27 45 50 -5 441 38.8 5.3
B - bl 269 268 1 126 97 29 46.8 36.2 10.6
= th Ll 65 71 -6 52 34 18 80.0 47.9 321
= % bl 31 30 1 13 11 2 41.9 36.7 5.2
kv fiE) Ll 26 15 11 16 4 12 61.5 26.7 34.8
#* = L 15 16 -1 6 10 -4 40.0 62.5 -22.5
8 #t Ll 37 29 22 11 11 59.5 37.9 21.6
= 2 L 12 7 7 6 1 58.3 85.7 -27.4
# ) Ll 6 6 2 2 33.3 33.3
& 11 L 16 21 -5 9 9 56.3 42.9 13.4
SR ) 10 18 -8 4 8 -4 40.0 44.4 -4.4
U & L 13 18 -5 7 11 -4 53.8 61.1 -7.3
=1 Bz bl 16 15 1 10 5 5 62.5 333 29.2
=S 1E L 10 19 -9 11 -11 57.9 -57.9
= = bl 8 11 -3 5 5 62.5 45.5 17.0
AR A S AT 7 6 1 2 3 -1 28.6 50.0 -21.4
WERME S AT 5 9 -4 2 4 -2 40.0 44.4 -4.4
% O #B 2 [ A7 5 8 -3 5 3 2 100.0 37.5 62.5
/)N BB & B HY 5 6 -1 1 4 -3 20.0 66.7 -46.7
B RE R E N - -
& M AR 37 2F A7 2 4 -2 1 1 50.0 25.0 25.0
f5 FB AR B o8 T 4 -3 3 2 1 75.0 28.6 46.4
5 BB 5% R AT 1 1 -
EHEBAEEN 1 1 1 1 100.0 - 100.0
AKEBAKFGHT 3 1 2 1 1 333 333
A K BB 3 K HT 6 1 4 4 66.7 66.7
PNEER & i o R AT 1 3 -2 1 -1 33.3 -33.3
B\ RAE 12 14 -2 8 14 -6 66.7 100.0 -33.3




